Set#22 — Impulse and Momentum for Rigid Bodies

1. A 3-kg sphere of radius r = 125 mm with an initial clockwise angular
velocity w, = 90 rad/s is placed in the corner formed by the floor and a
vertical wall. Knowing that the coefficient of kinetic friction is 0.10 at A
and B, determine the time required for the sphere to come to rest.
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Set #22 — Impulse and Momentum for Rigid Bodies

: i
2. The double pulley shown has a mass of 3 kg and a radius of gyration ?_
of 100mm. Knowing that when the pulley is at rest, a force P of i
magnitude 24 N is applied to cord B, determine
a) the velocity of the center of the pulley after 1.5 s,
b) the tension in cord C.
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